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QUESTION 1

What are three reasons for deploying vCenter Server in a physical machine? (Choose three.)

A. vCenter Server can be deployed as physical machine to support a VSA configuration.

B. vCenter Server can be deployed as a physical machine to ensure it is not susceptible to vSphere outages.
C. vCenter Server can be deployed as a physical machine to improve VMware Data Recovery performance.
D. vCenter Server can be deployed as a physical machine to improve vMotion performance.

E. vCenter Server can be deployed as a physical machine to ensure it does not contend for resources.

Correct Answer: ABE

QUESTION 2
A group of virtual machines has been deployed using thin disks because of limited storage space availability.

The storage team has expressed concern about extensive use of this type of provisioning. At which level can the
administrator set an alarm to notify the storage team?

A. Datastore

B. Virtual Machine
C. Host

D. Resource Pool

Correct Answer: A

QUESTION 3

Networking policies for a vSphere Standard Switch, such as traffic shaping and security, can be overridden on which
vSphere elements?

A. On the virtual machine

B. On the physical switch

C. On the physical network interface
D. On the port group

Correct Answer: D

QUESTION 4
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A user has permissions to create and manage alarms and tasks for a group of virtual machines. What happens if an
administrator modifies permissions for the user so that they can no longer manage alarms?

A. The user can no longer create alarms, but can modify or delete the existing alarms.

B. The user can create alarms but can no longer modify or delete alarms.

C. The user can no longer create, modify or delete alarms.

D. The Alarms tab is dimmed in the vSphere Client and no alarm-related actions may be taken by the user.

Correct Answer: B

QUESTION 5

You are running into disk contention problems on a VMFS datastore. Which two actions will resolve this problem?
(Choose two.)

A. Adjust disk shares for all virtual machines accessing this datastore from the same ESXi host

B. Move some of the virtual machines from this VMFS datastore to another datastore on a different LUN
C. Adjust disk shares for each ESXi host accessing this datastore.

D. Move some of the virtual machines from this VMFS datastore to another datastore on the same LUN.

Correct Answer:. AB
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